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1. The	quotient	when7j is	divided	by6 is

(i) 7
6
j (ii) 5

6
j (iii) 3

2
j (iv) 5

4
j (v) 9

8
j

2. The	quotient	when(−6b2	 ) is	divided	by(b−9) is

(i) (−3b−54) (ii) (−9b−54) (iii) (−7b−54) (iv) (−6b−54) (v) (−5b−54)

3. The	quotient	when(9h+9) is	divided	by(h+7) is
(i) 7 (ii) 10 (iii) 9 (iv) 11 (v) 8

4. The	quotient	when(5d2	 +4d−4) is	divided	by(d+5) is

(i) (4d−21) (ii) (8d−21) (iii) (6d−21) (iv) (5d−21) (v) (3d−21)

5. The	quotient	when(−8f2	 −6f) is	divided	by(f−7) is

(i) (−7f−62) (ii) (−11f−62) (iii) (−9f−62) (iv) (−8f−62) (v) (−6f−62)

6. The	quotient	when(8i2	 +2i−4) is	divided	by(i+6) is

(i) (7i−46) (ii) (9i−46) (iii) (10i−46) (iv) (8i−46) (v) (6i−46)

7. The	quotient	when(a4	 −5a
3
	 +3a

2
	 −8a+5) is	divided	by(a

2
	 −5a+4) is

(i) (−2a2	 −1) (ii) (3a2	 −1) (iii) (a2	 −1) (iv) (2a2	 −1) (v) (−1)

8. The	quotient	when(−f5	 +7f
4
	 −f

3
	 +9f

2
	 −5f+5) is	divided	by(f−4) is

(i) (−3f4	 +3f
3
	 +11f

2
	 +53f+207) (ii) (2f4	 +3f

3
	 +11f

2
	 +53f+207) (iii) (−2f4	 +3f

3
	 +11f

2
	 +53f+207)

(iv) (3f3	 +11f
2
	 +53f+207) (v) (−f4	 +3f

3
	 +11f

2
	 +53f+207)

9. (8x3	 −20x
2
	 +6x+9) ÷(−4x2	 +12x−9) =

(i) (2x−1) (ii) (−x−1) (iii) (−2x+1) (iv) (−3x−1) (v) (−2x−1)

10. (36x4	 +42x
3
	 −18x

2
	 −18x+6) ÷(−12x3	 −2x

2
	 +8x−2) =

(i) (−3x+3) (ii) (−4x−3) (iii) (−3x−3) (iv) (3x−3) (v) (−2x−3)

11. (−54x5	 −81x
4
	 +96x

3
	 +75x

2
	 −24x−12) divided	by(18x

3
	 −15x

2
	 −9x+6) =

(i) (−3x2	 −7x−2) (ii) (−3x2	 −6x−2) (iii) (−3x2	 −8x−2) (iv) (−3x2	 −7x+2) (v) (−3x2	 +7x−2)



12. (16x4	 y
3
	 +112x

4
	 y

2
	 ) ÷4x2	 y =

(i) (4x3	 y
4
	 +28x

2
	 y) (ii) (28x2	 y

2
	 z+4x

2
	 y

2
	 ) (iii) (4x2	 y

2
	 +28xy

2
	 ) (iv) (4x2	 y

2
	 +28x

2
	 y)

(v) (4x3	 y
3
	 +28x

2
	 y)

13. (1944x3	 y
3
	 z

2
	 +216x

2
	 y

4
	 z

3
	 +36x

2
	 y

3
	 z

2
	 ) ÷6xy2	 z =

(i) (324x2	 yz+36xy
3
	 z

3
	 +6xyz) (ii) (324x3	 y

3
	 z+36xy

2
	 z

2
	 +6xyz) (iii) (324x2	 yz+36xy

2
	 z

2
	 +6xyz)

(iv) (324x2	 yz+6xyz+36y
3
	 z

2
	 ) (v) (324x3	 y

2
	 z+36xy

2
	 z

2
	 +6xyz)

14. (5x4	 +4x
3
	 ) ÷x2	

(i) (−5x2	 +4x) (ii) (4x2	 +4x) (iii) (5x2	 +5x) (iv) (5x2	 −4x) (v) (5x2	 +4x)

15. (12x4	 +24x
3
	 +12x

2
	 ) ÷(3x2	 +3x)

(i) (3x2	 +4x) (ii) (4x2	 +4x) (iii) (4x2	 −4x) (iv) (4x2	 +5x) (v) (−4x2	 +4x)

16. (4x4	 −4x
3
	 −51x

2
	 −54x) ÷(2x2	 −5x−18)

(i) (2x2	 +2x) (ii) (−2x2	 +3x) (iii) (2x2	 −3x) (iv) (2x2	 +4x) (v) (2x2	 +3x)



 1)	(i)  2)	(iv)  3)	(iii)  4)	(iv)  5)	(iv)  6)	(iv)

 7)	(iii)  8)	(v)  9)	(v)  10)	(iii)  11)	(i)  12)	(iv)

 13)	(iii)  14)	(v)  15)	(ii)  16)	(v)
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